Siriex Do Fecnues Groomer Gauge

Part Number Quantity Description
12200-05 1 each |#4 Washer
77021-10 12204-01 2 each [ 1/4 Washer

each |Case

each | Spring

each [Top Insert
each |Bottom Insert
each | Gauge Bar
each | Digital Indicator

78035-02
78050-02
78065-02
78066-01
78075-01
78080-01

)

12413-04 2 each  [#10-32 x 1/2 Socket Head Bolt
14004-03 1 each |1/4-20 x 3/8 Button Head Bolt
14004-04 1 each |1/4-20 x 1/2 Button Head Bolt
77021-09 30003.18 1 each |Instruction Sheet
70069-08 1 each |Serial Number Label
’_/\ 73170-07 1 each [Hole Plug
= 77021-09 1 each |Extension
% 12200-05 77021-10 1 each |Flat Tip
%ﬁ\ 78005-01 1 each |Indicator Support
= 78050-02 78010-01 1 each |Indicator Mount
= 78030-02 1 each | Tube Cap
1
1
1
1
1
1

»
78010-01

S
S S

78005-01

Not Shown
78035-02

12204-01
78065-02
o/ 14004-03 78066-01
@j 70069-08

'/731 70-07 30003.18

14004-04\)“ 0

(@
f

‘;\1 2413-04

78030-02

30003.18 Rev 1 Jun7,2016



SIMPLEXE!EFEERLESS Groomer Gauge

1. While on a f ht surface, loosen button screw on back of digital indicator to 2. Loosen button screw inside handle to rotate f bt tip left and right.
rotate f ht tip front to back.

3. Once tip is f At in both directions, tighten both screws. 4. While still on a f bt surface, turn indicator on and zero.



	Page 1
	Viewport-1

	Page 2

